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iu;Q  yj = n(XijPi  )Zi6~~+~j __________-----_____--~~-..-------------------  (3)
I

Yj = ni(XijPi+uizj o+hc -____________------_____________________~~~~~~.....~..  (4)

take log Ek4

hlYj = X(f3i IIlXij  +6i(Zj  hlXij))+O+pj ______ ---- __________ ---- __________ (5)
i

elasticity 9109  Y 6i?fI6hJf%J Xi tiCI  pi + 6,Zi
Y

fllf%itlQ¶hJd6ru"7hJf1Xii~ 2 %I  %hdfl&ll6ih  implicit input i%klsiO  elasticity

9109  Y ai%J6%IJf%66s+alw,  vy 66az~oiuiawaJw mJfll4 (4) 7wJls66IkmmllPl6~u  .2  %pl
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InYi = In A +a In K + (PO,  + PtEt + P2Ea  + P3E3)  In L + y In R -----L------------------- (9)

InYi =InA+(ag,+atEt+a2E2+a3E3)InK+PlnL+yInR  ----------------------- (10)

1nYi =lnA+aInK+~InL+rs+otEt+qE2+o3E3 __.._____  -- ___---.........._------ (11)
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Pll-mi 1

ihds

Ln L

Ln K

Ln R

ntjol  A f$oJ B

Coefficient Sig T Coefficient Sig T

-.04438  .5533  .03414 .6344

.01699  .7886  -.02680 .6057

1.00756 BOO0 1.04246 .oooo

Constant 3.18340, .oooo 3.0978 1 .OOOO

2R .86496  .95708

87.53583 .oooo 133.79323 .oooo
F

.01699 -.04438 1.00756
OlfGll519 : Y = 24.13 K +  L R

cx + 0 + y = .01699 - .04438 + 1.00756 = .98017

Ii0 CL + 0 + y %il~fd  1 fll~~~Fli~~SUl6IlIl  constant return to scale
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FWil~~  2 Cobb - Douglas Production Function HUfllZ (9) 9109LtlkNl51Vf@i  A tt%  B

L n  L

Ln K

L n  R

E,ln  L

E21n  L

E31n  L

Constant

R2

F

Coefficient

-.05508

.03458

.96282

.00558

.00489

.00047

3.13582

.X7834

45.72269

Sig T

.4990

.5844

.oooo

.3086

.2039

.5070

BOO0

.oooo

Coefficient

-.05375

-.06720

1.02286

.01896

.00252

X0125

3.24745

.96722

76.76538

Y, = 32.007K
.03458~-.05508+.00558E~+.000489E2+.00047E3R.96282

Sig T

.5674

.2651

.oooo

.1152

.0739

.1454

.oooo

.OOOO

Q

.03458 .0477 .96282
Y, = 3.13582 K L R

a  + p  +  y  =  .03458  + .0477  +  .96282  =  1 . 0 4 5

i=hWnls%vo~n~oJ  B wihk%~

YB = 2.5.725K
-.06720~-.05375+.01896E~+.00252E2+.OO125E3R1.02286

thVlUd1  Et, E2, E3 ~XJdl Mean VW~$  $9 = 4.41, 12.27 UW 53.14 ~loldlhl

1911ZM

-.0672  .1272  1.02286
YB = 25.725 K L R

EC 416

a + 0 +y = -.06720  + .1272  + 1.02286 = 1.083
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fieod MPL, = -.04438x ;;;;;;9
708.707

MPL~ =.034  14  x 2467,09,

= -.0084 =.009x

mYa MPL, =.04770  x 257$;839 708.707
MPL, =.I272 x 2467.09,

= .0090’ z.0365
iw,  TF
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L n  L

Ln K

L n  R

E, LnK

E, LnK

E, Ln K

constant

R2

F

T fl& A T
Coefficient

-.0378  1

.01603

.97027

.00409

.00163

.00042

3.16686

.87495

44.31203
I

Sig T

.6332

x905

.oooo

.4072

.290X

.5233

.oooo

.oooo

flq

Coefficient

.08397

-.I5303

1.00509

.01598

.00218

.00104

3.04428

.96749

74.39088

9

B

Sig F

.260R

.1254

.oooo

.I223

.0758

.1513

.oooo

.ooQo
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QnaNi  4 Cobb - Douglas Production Function fWfl19 (11) WIWM%‘fl9~~OJ  A LlX B

r f+J  A fl+J  B

Sig T Coefficient Sig T

Ln L

Ln K

L n  R

E,

E2

5

constant

R2

F

Coefficient

-.03467 ,652 -.05213 .5442

.0342  1 S890 .05110 .2402

.96309 .oooo 1.03359 .oooo

-.02979 .4088 -.06477 .3503

.01036 .2409 .00698 .3006

0.00486 .3519 .01075 .3672

2.87103 .0003 2.95306 .ooQo

.8780 .96764

45.56315 .OOOO .oooo

2
Wd~b%l  iI R %f&&~&hm~fm  (9) 6tar (10) %%y”h=lu”&  (2) ‘Ikim~  .Ol

66am”md 4 iLlYX

f+ A : Y = 17.66 K .03401 -.03467 .96309
L R &

-.2979+.01036E,+.00486E2

6&~~76& E, = 4.62, E2 E3= 10.76, = 51.87

&iu .03401 -.03467 .96309 .25988
Y = 17.66 K L R C
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